
 

Ans. F = 720 N       , V = 140 N     , M = 11.2 N-m   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Ans. F = 625 N    , V = 120 N     , M = 27.0 N-m 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Ans. F = 12.50 N       30◦, V = 21.7 N        60◦, M = 0.75 N-m    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Ans. (a) Reaction force at support: MB = -12.5 kN-m  (b)  |V|max = 35.0 kN, |M|max = 12.50 kN-m   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 Ans. (a) Reaction force at support: FE = 16 kN, FA = 6.50 kN, (b)  |V|max = 11.50 kN, |M|max = 14.00 kN-m   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 Ans. (a) Reaction force at support: FB = 11.70 kN, FA = 15.30 kN, (b)  |V|max = 15.30 kN, |M|max = 46.80 kN-m   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 Ans. (a) Reaction force at support: FC = 30 kN, FA = 60 kN, (b)  75.0 kN-m, 4.00 m from A   


